EARAROBREBRT —5 XN—ZXBISH—F 202558118 (B) 20IR#6H

NS SR3% KEF) [FEE] S ‘(fﬁ} B ‘[%EH?’;E] — | = 1000 B

[AE%] 1 7% :5,600,000  ~ 27 :2,200,000 @ .~ 37&:1,400,000 F 4 3&:840,000 § . 5 7&:560,000 H

Ri0AVTS4 b~ B:YY—VYUT

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
=~ B3 | Sz 1:34.8 7-6 34.5)87.9 | 2 | 48 |EEE— ER
1172|13| FF 7502 756.0 o o | # s—2EWR
RIVFZIVATF4=Ib B:YvARI— ARAIWT7—L
~ sy s 3 | EHF 1:35.0 9-6 34.5| 8.8 | 1 478 | AKER (RH)
21815/ IVIRTLVY 57.0 (1 1/4) ®) | R LIz
RE-UR B:Yh/TPAU FRE®S
» 4 3 | FIHEZ 1:35.0 4-4 349 8.8 | 4 456 | JEHERA RE)
3|59 | IRETO—U— 57.0 "3 4 | @ 32E-32E
RiFRXF B:I7IE HBEIT7—L
=~ EEFAR 3 - BARE (FH)
ST+ —2ATA) i 3 E 1.(335).5 10-10 | 34.7| 80.6 | 6 21_3(3 ﬁﬁEEm
RPN/ FTAVEYR B:HYYFa1—-RIA) FERS
RS s 3 | SEEHE 1:35.5 2-2 35.7|80.7 | 3 | 454 | B GER)
DAINRS—) 57.0 F93) te) | ) DAY

JRETa1—T7—LAh

Ri7RIA(VY—R B:U1T5E

- B3 | ATEN 1:37.6 16-16 | 36.1| 59.9 | 16 | 430
EHS Jbb—=3 55.0 €) =)

sy o = 3 [izhe 9y : - ZILEEHC
Y 29)5—F 14— [B] £ 3 *2%_?8 1.(315).7 10-10 [35.1| 78.5 | 7 (4_686; %Eﬂg (FR)
RIE—UR B:FvU3 /=Y Tr—I
: —1, 4% 3 | WPHEE 1:35.7 7-6 35.4|785| 5 442 | BNE RN
4 I\U:_L Lk ) 55.0 F9%) (-10) | MEEISE
RUFPIVRAF =)L B:TUIT chE sk
o1 _ 4 3 | FXRH 1:35.9 10-10 [35.1| 76.4 | 8 | 426 |{E%AR= &R
AE—=FA/TO 57.0 m @) |H imRockRac ingh—bF
RiWI7rAU— B:Tzx—/ EXBS
\ —y st 3 | BRLLFE 1:36.0 2-2 36.2] 75.9 | 11 | 490 |EHEER ERN)
Jibb—2 57.0 (/4) 3 Yama' sL-vv7
RiXIT T« B:FIVYa1DvHP— XF @A
S 3 | HEHE 1:36.2 6-6 35.9| 73.7 | 14 | 454 | BT (RF)
10/1] 2| *¥239197« [B] i X520 (" 1/4) “2) AT
R:O—RAFOF B:XAYIUXASY ==
S S~ S t 3 | A ¥agdsr 1:36.3 14-14  |35.3| 723 | 13 | 58 |4UERE (ER)
' o IS reAPN * 55.0 %) (- | HAREBELE
RUAVFA—R B:FAI—X—h— YFAIRIS
>~ ) — 4 3 | HOBX 1:36.5 10-10 35.9| 70.7 | 12 510 | EERIEK (BRR)
12 6 FFU [B] 57.0 (3/4) (-6 |=HSE
RiIW—5—=IvF B:Y—4T37 /=3I r—1L
- N SiiEs 1:36. 1-1 9] 705 | 1 4 BWEDE (RN
1318116| 2 U7 F =L 3 5.0 (316)6 3691705 | 10 (f(?) HFET
R:TVAFEITY B:TSUVITAT7 T E R4
S ~ ~ 3 | WEES 1:37.0 4-4 36.9]66.7 | 9 420 | WEBTDN (REW)
1494 3| AV /XYAT P S @1/ e |HEAB
R:/=TIW=yyay B:N—K/AVPUVT PIRILLIBR415
= ) — 3 | SREF 1:37.1 14-14 | 36.1] 64.9 | 15 | 438 |&IEBA (EFER)
15/ 5|10/ WEF T4 09 57.0 ZE) (4 |EIBESE
RVILN=RF—t B:Z2N\VI5= L]
[HiREE (FR)

KA J IMOTOR=ILT« VTR (
NG

@5 1L

£B0 47.2-35.1

NOVIA L | 12.8-10.7-11.7-12.4-12.1-11.9-11.8-11.4

@ 1—F—&EBIRfI
13—3—
23— —
30—F— | 16(4,14) (3,92(13,12)15(1,6,7.8) (10,11)-5
43—F— | 16(4,14) (3.9) (2,13,12.15) (1,6,7.8) (10,11)-5

@ ILRE
& s 13 360 | | DA R 13-15 280F9 | | # & 7-8 470 | | 3&E | 9-13-15 2,630MH
& B 13 160F4 9-13 7100 | | &5 & 13-15 620F3 | | 3E&E | 13-15-9 9,150
15 130M 9-15 660F | | 5 2 13-15 1,250/
9 220MH

ABIC OV TRUTEREERRODDZE. THRIIZEL.




